B AYKEIOY OETIKOX [TPOXANATOAIZMOX
81 1)

INo va avhket éva onpeio oe pia ypapun 0o tpénet va emainbeder v eicmon tg. 'Etot
vy 10 A: mpénel 1=2-2—-3<>1=1 nov oydel Apa T0 A GV KEL GTNV YPOLLUT

yw. 10 B: mpéner 5=2- (—1) —3<5=-5 mov dev 1oyvel pa to B dev avikel oty ypouun
yw. to I': mpémer 3=2-0—-3 < 3=-3 mov dev oyvet dpa to I" dev avnkel 6TV YpopLun
vy 10 A: mpémel 5=2-4—-3<5=5 mov oyveL dpo T0 A AVIKEL GTNV YPOULUN

3
v to E: mpéner 0=2- 5 -3 < 0=3-3 mov 1oyvet Gpa 10 E avikel oty ypapuun

8.1 2)
Mo va avrketl éva onpeio o pia ypopun tpénet vo emaindedel v e€icmon tg. 'Etot :
e [wtoA: mpéner 5-0-1=1< —1=1 mov dev oYVl , Apa T0 A dev OVIKEL GTNV YPOUUY
e [ toB:zmpéner 0-5-1=0 mov dev woyvet, dpa to B dev avikel otnv ypouun
e [atol: mpéner 5-0—1=-1 mov woyvet, dpa 1o I avrkel oty ypapun
e T 10 A : mpémel 5(—1)—1= —6 mov wybeL, Gpa 1o A aviKeL 6TV Ypauun

3
INa to E : npéner 5- 3 —1=1 mov dev woyveL, dpa to E dev avikel otnv ypopun

81 3)

2-1+2-4=0 woydet, dpa t0 A AVKEL GTNV YPOLUN
2-4—4—-4=0 1oydet, dpo 10 B avrkel oty ypopun

2(—1)— 2—4=0 devioydet, apa 1o I' dev aviKel 6TV Ypouun

2(4) +3—-4=0 odev oydel, Gpo 10 A dev AVIAKEL GTNV YPOUUN

2- g +1-4=0 1oyder, dpa 10 E avikel oty ypopuun



